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2/8 M3 ~2/9% 7 ~2/10 %
23| 4|5 |6 |7 |8] 9|10 ET Sl i ?
_ 2/11 4= ~2/12% = ~ 2/13-14 4
— 1 11 | 12 | 13 | 14 | 15 | 16 | 17 | TOEIC exercise/ movie .
E FA-
2 18 | 19 20 | 21 | 22 | 23 | 24 | TOEIC exercise 2/22 % = % - X A& # pafol e =
3 25 | 26 27 | 28 | 29 1 2 | TOEIC exercise 2/28 = = A3
4 3 4 5 6 | 7 | 8 9 | TOEIC exercise 3/8 B p
=| 5 10 | 11 12 | 13 | 14 | 15 | 16 | TOEIC exercise
H 6 17 | 18 19 | 20 | 21 | 22 | 23 | TOEIC exercise
TOEIC exercise s e
7 24 | 25 26 | 27 | 28 | 29 | 30 BBES AL 3/26-27 % - X =5
TOEIC exercise Qe s e b e A% a7 2
8 31 1 2 3 4 5 6 BBES AL 4/4-5 223 & TR %EFE a3
pg| 9 7 8 9 |10 | 11 | 12 | 13 | Oral presentation 4/9-4/12 % = k¥ % {7
2 10 14 | 15 16 | 17 | 18 | 19 | 20 | Oral presentation
11 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | Oral presentation 4/22-25 > ¥ & iz
12 28 |29 (30| 1| 2] 3 4 | Oral presentation 5/1-2 3 = %%
13 | 5 | 6 | 7 | 8|9 |10/ 11 5/8 % = ¥ = A Rl Y
14 12 | 13 14 | 15 | 16 | 17 | 18 S/13-14 7§ = = % = A2
E 5/18-19 W@ &k+v ¢ ¥
15 19 | 20 21 |22 | 23 | 24 | 25
16 26 | 27 28 | 29 | 30 | 31 1
17 2 3 4 5 6 7 8 6/4 & ¥ 3¢
g 18 & 10 11 | 12 | 13| 14 | 15 6/10 =5 = &3z
19 16 | 17 18 |19 | 20| 21 | 22
20 23 | 24 25 | 26 | 27 | 28 | 29 6/26-6/28 3 - = % = =x =¥




